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:  Question No. at serial I to 126 are related to Electrical, Electronics and Mechanical Engineering.
soecitag 13 et ot & a=f €|
d to General Aptitude. :

General Aptitude) F g B |

Three resistors, each of R ohms, are
connected to form a triangle. The resistance
between any two terminals will be:

(A) 23R

(B) 3/2R

(©) R

(D) 3R

] The Ohm’s law for conduction in metals is:
- (A) J=cE

(B) J=E/o

(C) JxoE

(D) JxE/o

The S-N curve for steel becomes asymptotic
nearly at:

(A) 10 cycles

(B) 10°cycles

(9] 10° cycles

(D) 10° cycles

The armature of D.C. generator is laminated
to:

(A) Reduce the bulk

(B) Provide the bulk

(C) Insulate the core

(D) Reduce eddy current loss

When a semiconductor bar is heated at one
end, a voltage across the bar is developed. If
the heated end is positive, the semiconductor
is?

(A) P-type

(B) N-type

(C) Intrinsic

(D) High degenerate

For a ductile material, toughness is a
measure of’

(A) Resistance to indentation

(B) Ability to absorb energy up to fracture
(C) Ability to absorb energy till elastic limit
(D) Resistance to scratching

&1 wfadgs, 93F R a9, tF Brye e ¥
forg @ gT €1 g <1 iR ¥ fte sy
g

(A) 2/3R

(B) 3/2R

€ R

(D) 3R

Tl i e % for o 7 R &

(A) J=cE
(B) J=Elc
(C) JexGE
(D) Jx E/o

wter % forg S-N curve #TWT Fgl T TG

(asymptotic) T SITdT &:

(A) 104 smEdq

(B) 103amadT

(C) 108 srad+

(D) 108 arerdT

Y ST F arda] F JAffee Fr e g

(A) Bulk F7 %7 ¥ fw

(B) Bulk w=17 e & fag

(C) XA Twere FXA & forg

(D) eddy current &t #¥ Fex & forg

ST STEETA S FT T (€ g€ W by sirar g,

a1 &8 ¥ AR-9TC T Fredol [Aaia graT g1 a2

T 3T AHCHS g, A7 e 32

(A) P-y=1T

(B) N-9=1T

(C) =raf (Intrinsic)

(D) 3gEeE

TF ductle material * fow, F3rEr

(toughness) 717 &

(A)  wf¥earae (indentation) & g

(B) % (fracture) a% It &1 Faeifad
FCT AT Erwar

(C) wr=rare T (elastic limit) % o1 F
AT o Y erar

(D) Scratching & gfaTry

e ———
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10.

12.

13.

In lap winding, the number of brushes is
always: :

(A) Double the number of poles

(B) Same as the number of poles

(C) Half the number of poles

(D) Two

Synchronous speed is defined as the speed at
which:

(A) Stator magnetic field rotates

(B) Rotor rotates on no load

) Rotor rotates on full load

(D) None of'the above

Atomic number of silicon is:
(A) 12
(B) 13
(C) 14
(D) 15

Iron losses in a D.C.
independent of variations in:
(A) Speed

(B)- Load

(C) Voltage

(D) Speed and voltage

machine are

The time variation of the position of a
particle in rectilinear motion is given by x =
20+ £+ 21. If v is the velocity and a is the
acceleration of the particle in consiste(qj

units, the motion started with: i
(A) v=0,a=2 K
(B) v=0,a=0 O N
(C) v=2,a=0 o o
(D) v=2,a=2 v

Which of the following is an integrating type
instrument:

(A) Moving iron ammeter

(B) Moving coil voltmeter

(C) Dynamometer wattmeter

(D) Induction type energy meter

Compensating windings are used in D.C.

generators:

(A) Mainly to reduce the eddy currents by
providing local short-circuits

(B) To provide path for the circulation of
cooling air

(C) To neutralise the cross-magnetising
effect of the armature reaction

(D) None of the above

10.

11.

12.

13.

& AT et Y HE Fh AR &

(A) st & dear e

(B) et it gear ¥ aHm

(C) i ameft AT

(D) =

TR AR A I AR F w9 F ofomfg
B smar g g o

(A) T qah I @ e

(B) e famT W F gHaT §

(C) Trex qof AT TT HAT §

(D) T & F€ ofT 7RT

Si #T TTATY T B

(A) 12

(B) 13

(C) 14

(D) 15

uF S weft & wg g e & =
2

% o

(B) e

(C) dreesr

(D) e 3T Areest

uF T At el Wi afa ® Rafa w1 g
qfEdd x = 27+ £+ 2¢ g T staT 31 7fe v
A & AT a T T H AT @ G,
T T 3l c@wor giir:

(A) v=0,a=2

(B) v=0,a=0

(C) v=2,a=0

(D) v=2, a=2

o & F19 UF THisa THR 7 STH &

(A) ¥ AR FT THIZT

(B) = F= AleaHlel

(C) =raaunfiex arediet

(D) T YT Fwit HI2T

et s § aftqfd afeT &1 sugnr fwr

ST &

(A) ¥e &1 & wrE aid-afde v F06
eddy &S FT F A & T

(B) & zar ¥ d9ww ¥ fog wrf waw

7 ¥ fag

grisre yiafhar ¥ wia-gahg surg #7

FATT A & oI

IYUH H F FI5 Aol

(C)

(0)
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14. Which of the following statement is best 14, IR F g Awfafea ¥ AT 7T FAT
suited for a zener diode? e
(A) Itis rectifier diode T &7 .

(B) It works in the forward bias region (A) ug%ﬁzm‘mm'!ﬁ?g
(C) It is a constant voltage device (B) dg FiEas aAT4H & o FT BT g
(D) It is mostly used in cllppmg circuit (©) 75 TF R e At €
(D) mgﬁmﬂmﬁﬂmﬂﬁzﬁ
FoFarT ST §
5./ Heat transfer takes placc as per: 15.  goay sarTeaer e AW F STETT AT
,//‘ (A) First law of thermodynamics A dynamics) 1 TaH
(B) Zeroth law of thermodynamic (A) (thermacym
(€) Second law of the thermodynamics A
(D) Kirchoff's law (B) sEATATH (thermodynamics) T zeroth
ICRE:
(C) wsAATIAT (thermodynamics) 1 Tt
e
(D) frcats 1 fAaw

16. A shunt generator running at 1000 r.p.m. has 16. wH sz sMeex 1000 rp.m 9% o @ 2
generated e.m.f. as 200 V. If the speed & AT, SeTe fa & 200 V ¥ =g H afe i)
increases to 1200 r.p.m., the generated e.m.f. o
will be nearly: 1200 efiud TF A8 It & A7 Soa
(A) 150V £ TN U, S g0
(B) 175V (A) 150V
A€) 240V (B) 175V
(D) 290V (C) 240V

(D) 290V .

7. The theorem that enables a number of 17.  wirg ST % arees (AT FLE) Bat B T THA
voltage (or current) sources to be combined Freaet (a7 FTE) WG H A AR FT H
directly into a single voltage (or current) qETT AT 2, 9 THT & -
source is the theorem : .

(A) Thevenin’s (A) A=
(B) Reciprocity (B) wrarfad
(C) Millman’s firerd
(D) Maxwell’s (C) T
(D) e ‘
18.  An ideal Op-amp is a: 18. e sst Ae-uFT (Op-amp) &
(A) Voltage controlled current source o .
(B) Voltage controlled voltage source (A) et Faf sra A
(C) Current controlled current source (B) dress fAdPa drees At
(D) Current controlled voltage source (©) srer Forifrr ey &
(D) e AP dreest wnd
19/  Starters are used with D.C. motors because: 19.  $Rft dred ¥ 9y =g w1 ITEnT fhar STar §
)(’A/) These motors have high starting torque T
(B) These motors are not self-starting ' . _
(C) Back e.m.f. of these motors is zero (A) = ALl ¥ 3 9T torque T ¥
initially (B) T HETEF Y f 3
(D) To restrict armature current as there is Q) % Fﬁ'@ﬂ'% L
no back e.m.f. while starting (©) TR, T A A A Y
. (D) smi=T F #r gfdafa & & g,
S g FIF o F0 T TS A £ AG
Py 4 9
[Series-A Ly itk
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: ,,'Ei,, g «#“I ! ’.’ i’ é-’"‘“';v:; Z i N _ p (.“' sy o~ :_.«.v}\?. ?v-t*‘:u‘ };'
| - | ;. ri ;é&" W | t‘ B | I V' 4 i i ¥
B B O © z:kr“ L& L a4l gy
20. . The life of fluorescent tube is affected by 20. iRz = @ SfaT vl grar CH
(A) Low voltage (A} FH e
: High voltage
?CB; Frequency of switching and blink (B) g drees '
(D) Allof the above (C) Rafi s e § argfer
(D) ST st
21.  Cork is a good insulator because it has: 2l ¥ v gear FHTAF B
(A) Low density (A) 9 50T 3 FCT
(B) Atoms colliding frequency
(C) Free electrons (B) T e it s & Freor
(B))I;omus body (C) 7k Torata ¥ FTor
(D)  Tel &= % oo
22.  The speed of a motor falls from 1100 Lpm. 22, o Hew Y TR 1100 r.p.m q-AE ¥ T W
at no-load to 1050 r.p.m. at rated load. The e
speed regulation of the motor is: T 1050 rp.m a R st g it
(A) 2.36% TR 2
B) 4.76% 0
gc; s (A) 2.36%
(D) 8.84% (B) 4.76%
(C) 6.77%
(D) 8.84%
23.  An clc?ftrical breakdown of a p-n junction 23. o W?Wﬁwwm'@m%ﬁ:
occurs if: . ) .
(A) Forward voltage increases up to the () SR Frest X aw a5 srefy g
rating (B) e & it fiast ey amar &
(B) E:i‘:gse voltage increases beyond the (C) YR ¥ iy i ared 90 81 ST &
(C) Forward voltage decreases below the (D) ’fﬁﬂ%ﬂ%ﬂﬁaﬁwm@m%
rating
(D) Reverse voltage decreases below the
rating
24. A BJT is s.ald. to be operating in the 24 TF BJT Hqa & (saturation region) ¥ =T
saturation region if: N
(A) Both junctions are reverse biased A 3 PO g et & s
(B) Base — emitter junction is reverse (A) aﬁa‘rmﬁrﬁaﬁmg
biased F -
and base collector junction is forward ®) éﬂj- _ 31'«{217{ e o
biased. PAF ST HEE ATeg
(C) Base - emitter junction is forward ) F - Sartw s9 wrad ELRESIE 0y
biased an.d base — collector junction TR - A2 579 Rt 3
reverses biased, PR N
(D) Both the junctions are forward biased. (D) =TT st wiears arree §
25.  Two transformers operating in parallel will 25, TR F 0w R TwT aqy ¥
share the load depending upon their: ST W2 773 rerr 749
(A) Leakage reactance . )
(B) Per unit impedance (A) e afafir
(C) Efficiencies (B) 5T 7fi= gRamsy
(D) aings (C) e
) (D) Xf&r -
TScricS-A] [1103] [Page-4]
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(?j Work transfer between the system and  26.

surroundings:
(A) Isalways given by | pdv
(B) Isa point function
(C) Isa function of pressure only
) Depends on the path followed by the

Rrezw 3l ofcder & ey w7 gera:
(A) g | pdvera Ry smaT €

(B) wRgFEE

(C) AeT J9I< FT FeA §

(D) fireew g srgarer kg g 9 9 R

system
. AT E
27.  The band gap of Silicon at room temperature ~ 27.  F%¥ ¥ qromT < Si F7 §7 hw
is:
(A) 13eV (A) 1.3eV
(B) 0.7eV (B) 0.7eV
(C) L.leV
(D) l.4eV (C) 1.1eV
D) 1.4ev
28. The output ‘F’of the logic gate in the figure 28.  f ¥ @ifor i FT A6y F= 2l
is .
1 >E > o—8
F —
= (A) O
(B) 1
(A) O ©) A
(B) 1 -
©) A (D) A
D) A
29.  Creep failure occurs due to: 29. Yy eg ¥ FIOT AT S
{A) Gradual application of load at ordinary (A) T - -
temperature ST AT AT . AT
(B) A very rapid rate of loading at subzero (B) HSII ATIHIA U ATE &1 HT dgd a9 &<
teanperatures (C) % ATIAT 9T w=A AT F agd aresH I
(C) Formation of voids under a steady load
at elevated temperature fafo .
(D) Excessive work hardening (D) ereafier 7 grEfam
30.  Silicon is preferred for manufacturing zener ~ 30.  J=T ITETE ¥ fawior & forg ffeawiT
diodes because it: w7 wrafaFar & St g FJAF 97
(A) Is relatively cheap (A) T e
(B) Needs lower doping level o _
(C) Has high temperature and current (B) A STfifar =T 7 amaeaan
capacity (C) 3 AT9HTT AT FiT qwaT g
(D) Has lower breakdown voltage ©) 3 S
@ Which of the following acts as a protection ~ 31. faw & & 7 sy sic RafFT ¥ w=wr 37
against high voltage surges due to lightning et 7ot 3 FareTs oAt ¥ = i T ¥
and switching? L. pst)
(A) Homn gaps (A) T
) Thermal overload relays (B) e arfemre Py
(C) Breather
(D) Conservator (C) i
(D) ez _
[Series-A] [1103] [Page-5]
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33.

34.

36.

37.

A Carnot engine receiving heat at 400 K has

an efficiency of 24%. The COP of a Carnot

refrigerator working between the same

temperature limit is:

A) 1 .

gB) 2 Y U,\ C,‘?\w‘

\) X -

©3 A

) 4 rkf

w7
P 1o
P ()} WA
Q_'JO)? ? .
'\w - i (/‘1'(
V/ "\\’<'

A strain gauge with gauge factor 4 and 33.

resistance 250Q undergoes a change of 0.15
€) during a test. The measured strain is:

32

Y e
gl -

400 K 7 eff ST T AT FICATE ot 249
F1 Zerar T@ar {1 oF & aOHT G oy
HTH HTA ATl T HICATE LRI HT HHAt &,
(A) 1

(B) 2

(C) 3

(D) 4

TH AT T (strain gauge) s 57 dwe
(gauge factor) 4 =T ufadgr 250Q 2, uoF

(A) 15x107* NG qterr % S 0.15 Q F gRada 7 T &)
(B) 1.5x10" o T T
(C) 150 x 10~ x < s/v ;:;”15 0?
D) 0. = as *10”
(D) 0.15x10 % 0 .
o a5, 1 (B) 1.5x10
L)
. “X#° & (C) 150x 107*
\ v
P (D) 0.15x10*
A 3-phase 440 V, 50 Hz induction motor has 34.  uF 3T 440 V, 50 Hz T=9erT W< i 4%
4% slip. The frequency of rotor e.m.f. will h ' ‘ N
be: Y ey 31 Tex S.u s, #F argfRy 2nf:
(A) 200 Hz \ wt? (A 200z
(B) 50 Hz § .5 A
< < ) (B) 50 gest
(C) 2Hz L ~
(D) 0.2 Hz i~ 6? (C) 2%
(D) 0.27
In flow through a pipe, the transition from 35. UF URY ¥ varg ¥ giftvew wiw afme &
(l)ann.lmar to turbulent flow does not depend et qx iR 8t o
(A) Velocity of the fluid 30 (A) wEaTam
(B) Density of the fluid L ﬁ (B) =@ #FT °eq
(C) Diameter of the pipe o
(D) Length of the pipe © T
g (D) wrew it wraTé
The number of flip flops required in a  36. U e Frdex § wraeaw P Forvg $t FeT
decade counter is: &
(A) 2
(B) 3 A) 2
(C) 10 (B) 3
(D) 4 (€ 10
(D) 4
The term 'cogging' is associated with: 37, iR orex F1 wET &
(A) Three phase transformers :
(B) Compound generators (A) e o g
(C) _D.C. series motors (B) = ST
Induction motors (C) et st wred
(D) ot Hrew
rn.;m._ﬁ'II

rin
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@ A thermometer reads 95.45°C and the static 38.  uw ywhfier 9545 R &fewad gaar g AR
~7 correction given in the correction curve is qUT
-0.08°C. The true value of temperature will gerTe a  far e s
be: ‘ IfewTa & | IIHIT FT TE T G
(A) 95.37°C 7°¢
(B) 95.45°C (#) 95.37°C
(C) 95.65°C (B) 9545°C
(D) 95.713°C (C) 95.65°C
% o (D) 95.73°C ,
Which of the following processes results in 39,  fraferfae ghkamar & & F &7 88 &t aaq
~_ the best accuracy of the hole made? =t g &7 g §7
(A) Drilling .
Reaming () fRfem
(C) Broaching (8) &fr
(D) Bormg (C) Eﬁ‘ﬁr‘T
(D) A
@ Rotor rheostat control method of speed ~ 40. wfir frfwr # T rheostat Fa=m fafer =
control is used for: IR T STaT &
(A) Squirrel-cage induction motors only o
(B) Slip ring induction motors only (A) et m‘}tvr Y
(C) Both (A) and (B) (B) et feer fr S Wied
(D) None of the above (C) @t (A) # (B)
(D) UL & & T8 7!
According to Newton’s law of cooling, the 41,  =fes i siich FIeT F ATAT K& A GIT ZIAHL
rate of heat transfer in convection is: T 8
(A) Proportional to the temperature ; B
difference ) ST?R ¥
(B)/Proportional to the area of heat transfer (B) ATY ZEATALT 3 &= & AT A
€y Both (f}) tzlmd (B) (C) =T (A)T4T (B)
D) Nonc of these ). i
& (D) =% & IS TEI
42.  Error caused by the act of measurement on 42, < worrelt wx W F wr % wrow gft qfe
the physical system being tested is: eyt R ST
(A) Hysteresis error
(B) Random error (A) feefafm e
(C) Systematic error (B) wgf~am Ffe
(D) Loading error (©) =rafum AfE
(D) wnfewAfe
43.  The torque of a rotor in an induction motor ~ 43. =T TET ¥ fede WX ¥ T2 FT ot
under running condition is maximum: stfirge .
(A) At the unit value of slip g
(B) At the zero value of slip (A) =TS e WX
At the value of the slip which makes (B) ¢ Rew W
rotor reactance per phase equal to the
resistance per phase (C) R ot of oo e m il
(D) At the value of the slip which makes e =ror i 3 a<ra awr §
the rotor reactance half of the rotor (D) f& = ST Tex &t af¥faT @7 e &
AYT AT AT
[Series-A] rT103] L (._‘"1}/7 (PageT]
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44, Which of the following devices is used at the
first stage of an electronic voltmeter?
(A) BIT
(B) SCR
(C) MOSFET
(D) UIT

45,/ A measure of Rockwell hardness is the:
{ Depth of penetration of indenter
(B) Surface area of indentation
(C) Projected area of indentation
(D) Height of rebound

46. A synchronous motor can be used as a
synchronous capacitor when it is:
(A) Under-loaded
(B) Over-loaded (oo
(C) Under-excited {7
@ Over-excited

47.  The function of the reference electrode in a
pH meter is:
(A) Produce a constant voltage
(B) Provide temperature compensation
(C) Provide a constant current
(D) Measure average pH value

@ The property by which an amount of energy

is absorbed by a material without plastic
deformation is called:

(A) Toughness

(B) Impact strength

(C) Ductility

~/(D) Resilience

The torque angle, in a synchronous motor, is

the angle between .

(A)/The supply voltage and the back e.m.f.
) Magnetising current and back e.m.f.

(C) The rotating stator flux and rotor poles

(D) None of the above

5

Hot wire anemometer i1s a device used to
measure the:
) Pressure in gases
(B) Liquid dischargg”
(C) Gas velocities
(D) Temperature

45.

46.

47.

48.

49.

50.

Wﬁmm%w@mﬁﬁ%
Syt # & fe 1 39T R simar &2
(A) BIT

(B) SCR

(C) MOSFET

(D) UIT

UHae T3 1LdT HT UF AT g

(A) FTITTF gaw & 1L

(B) 329 T qag &7

(C) SeoT T TIoraee &7

(D) uereTa it F=TE

TF A Jre 7 Ry $uRe F =y §
TEIAT [T ST 5T &, 79 a8 2

(A) =TT

(B) #AEX AT

(C) =w JeuTiga

(D) wfd geeTiRa

pH ez # da+f 3ore &1 71 ¢

(A) ©H fAaT (constant) Ao &7 IeqTET
(B) aTIHTT TeTaST (compensation) TET #¢
(C) TH Fax (constant) &TT YaTT 5%

(D) e pH e AT

g Wt s gRr wnlRed Bewr ¥ ey
U ATHAT ST St it 97T #y eraeifoa frar
SIGIES

(A) TwI

(B) R aE=T

(C) =frfd

(D) ffferd=T

O fEme wie § o i,
T 0T G|

(A) Y Freest AT AF $ u U,

(B) T ST 4% §.UH.UH.

(C) i =2 T 3l ULt o

(D) <udreh ¥ & F7E TET

e are gHTTeT o fRared & Rt awdn
AT F oy f sraT &

(A) et Z3Ta

(B) @ fdgT

(C) #wam

(D) FHHTH

& T

B

«1tAnl

Mann.R]1

Scanned with CamScanner



In descending order of magnitude, the
‘thermal conductivity of (a) pure iron (b)

52,

53.

54.

55.

56.

liquid wat.er, (c) saturated water vapor and
(d) aluminum can be arranged as:
(A) d,c,b,a

E)H, c,a,d
d ab,c

(D) a,b,c,d

Which of the following materials is not used
for transmission and distribution of electrical
power ? '

(A) Copper

(B) Aluminium

(C) Steel

(D) Tungsten

Rochelle salt is a crystalline material used in
producing:

(A) Velocity transducer

(B) Photoelectric transducer

(C) Piezoelectric transducer

(D) Differential transformer transducer

Heat and work are:

(A) Extensive properties

(B) Intensive properties

(C) Point functions
},D’f Path functions .

The phenomenon of rise in voltage at the
receiving end of the open-circuited or lightly
loaded line is called the :

(A) Seeback effect

(B) Ferranti effect

(C) Raman effect

(D) None of the above

Very small displacements are effectively
measured using:
/(A) LVDT
(B) Strain gauge
(C) Thermistor
(D) Tachogenerator

51

52.

53.

54.

55.

56.

qfwmT % sE<Er 9 #, (a) 4@ =g, (b) T
5T, (c) WqW s areq & (d) wephfRa fi
et wrefRefadt #t saaftaq o o gt &
(A) d,c,b,a
(B) b,c,ad
(C) d,a,b,c
(D) a,b,cd

frafafa § & B gumft #1 wa fgga afE

¥ wrareor afe e & g =t v simar 82

(A) FfaT
(B) wefAfEH
(C) =
(D) e

Frirer 7w (Rochelle salt) v feeefia qrasdt
¥ St FewrEe # ITART A AT 2

(Ay & ZESgET

(B) TrrgafigE gaSTAT

(C) ieirgafags grasTaT

(D) Rwifirre ZiEEHT ZEAT

(A) uFEERHE

(B) Zfaaaw

(C) &g FFer

(D) T FFAH

A-giFe a1 gk @8 ardl arEd § 9T @K
IR Freest A i T TeAT B Fgr A1
(A aw T

(B) L wHTH

(C) T I

(D) IULren ¥ & H1S A4l

agd G faeaTae F1THET & F STAT HT
e ZTCr AT SATAT 6

(A) THHEET

(B) aHIE AT

(C) afifex

(D) ETHNHAET

fmo__ Ny
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B

58.

it

60.

62.

' If'a number of forces act simultaneously on
. a particle, it is possible:
~(A) To replace them by a couple
- (B) Only single force can’t replace them

(Cy To replace them by a single force
through center of gravity

(D) To replace them by a single force

Owing to skin effect:

(A) Current flows through the half cross-
section of the conductor

(B) Portion of the conductor near the
surface carries more current and core of
the conductor carries Jess current

(C) Portion of the conductor near the
surface carries less current and core of

the conductor carries more current
(D) None of the above

Which one of the following is the most
sensitive device?

(A) Thermocouple
(B) RTD

(C) Thermistor
(D) Pyrometer

The specific volume of water when heated at
0°C:

(A) Increases steadily

(B) First increases and then decreases

() First decreases and then increases

(D) Decreases steadily

Two generators A and B have 6-poles each.
Generator A has wave wound armature
while generator B has lap wound armature.
The ratio of the induced e.m.f. in generator
A and B will be:

(A) 2:3

(B) 3:1

(C) 3:2

(D) 1:3 )

A digital storage oscilloscope has:

(A) 5 modes

(B) 2 modes

(C) 4 modes

(D) 3 modes

58.

59.

60.

61.

62.

T LT e Y oA A S B Lhe JOS PR SR 1 o , Lt o 1
T A B AT Foaiti haa Bk L el s
i o T e b . : o B0st
o 5 o B SRR O ooy b | it 1
. S G Ra B SRS 2% o
] i 'm . g

> |

TR < aw  ad e g

TR O

(B) 3 o et vt e v v sy

(C) 7! & Tz T O 7w gy wRenfy
FLAT

(D) ¥ um aw g1 S wien R ey

fhwr@ﬁz%w:

(A) Ekm%aar&’rmh-fmm%mm#mg
graT g |

(B) 7T ¥ W Fwwx ¥ Rer ¥ afiw
FEZ AT § ofiT F2927 F FT 7 797 Hiz

(C) m%mﬁmﬁ?ﬁgﬁﬁwm@m
(D) U ¥ F g FY

ot % & 2 a1 Tadr d3eaofta R
22

(A) FHTEHTT

(B) RTD

(C) ufiwx

(D) 9rarfteT

STa 1T T 00 Ffewas o o Fy & | qrelt
fafere smra

(A)  FETET T35 qT AT

(B) e awaT § i e wear §

(C) & wrear § o f aman §

(D) FTETE EaT §

T T A AT B § 7l & 6-9r & ST A
¥ 37 wound =R § SafF SMYET B #F Iy
wound 9T 1 W@ §UN.UE. T U
AR A ST B & g

(A) 2:3

(B) 3:1

(C) 3:2

(D) 1:3

T FRfees &R Aifisme §:

(A) §drga

(B) 2w

(C) 4w

(D) 3#w

-~
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- ’.L“w' ", .‘ . \\ t o W*-'ﬂ: 2 K 7 3 ‘ ‘ 1’& . l/
| B COPHer When AOVEd it b L 71 0 i alon O ST R B
! FLaier e Zinc . . N R AR P M g !
N () Bronze lnownes 63wt o e P AT A
‘. 7(B) Babbits erpper X & SITAT 7T & 7 A ‘
A ® |
HTET
(D) None of the abo
ve (B) ife
(C) da=
D) 39U
64. If _the length of a wire of resistance R is 64 ;ﬁ), o - i .
uniformly stretched to » times its origi . R ¥ T# a) it dars a ¥9 §
. . ginal
value, its new resistance is: S qA WA G n AT T 96 AT g AV GhH
nR a7 wfadry &
(B) szn - x% (A) nR
© o I% (B) R/n
(D) R/n
(C) n?R
(D) R/n?

65. Most seven-segment displays are driven with ~ 65.  wiferfieor @ma-gs el TH T & 414
an clncoder that converts a binary encoded FifRe 2 § o aread ueieE fser T
nibble into a: St ;

S "
(A) Binary number T HAT &
(B) Numeric number (A) aTELT AT
(C) Octal number (B) HeTeR HEAT
(D) Hexadecimal number ©) at :
/ /7 (D) TFaTSfawe e
<_6/6., In 2 ‘stroke cycle engine, the operations 66. I wrE whF T |, FH, FTIY, UFHULH,

=~ namely suction, compression, expansion, N .
and exhaust are completed in the number of T T 5”'53 kil e;rqi'qm L UL —
revolution of the crankshaft equal to TRAT # TR &

(A) 1 Q"
EB) 4 (B 4
C) 3

€) 3
> 2
P/ : (D) 2

67. Compared to an ordinary semiconductor 67. 1w HTETOT ST STATS £ g #, TE
diode, a schottky diode has: R
(A) Higher reverse saturation current and C L .

zero cut-in voltage (A) v7 Rad et 7 R O F
(B) Higher reverse saturation current and s
higher cut-in voltage B) vg fEd & Fe #X Ig FFA
(C) Higher reverse saturation current and e
lower cut-in voltage N . A
(D) Lower reverse saturation current and ©) ¥ IR ACIE N F=T
lower cut-in voltage Aeds
(D) e Fad Foeem FiE 3 AR FEET
Frees|
68.  The input bits 0-7 are represented by: 68. gz fargw (0-7) T, F T ATl FW o
(A) Eight linear expressions .
(B) Seven linear expressions (A) o5 e it ”E“”_
(C) Eight Boolean expressions (B) aTa s srfvr=afwat
(D) Hexadecimal expressions (C) a5 Tfera afisateeat 4
(D) e Rreer afreatooet
[1103] 3 [Page-111 =4
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Ho. _\ The compression ratio for the Compressor is
-~ always _ unity.
(A) Less than
(B) Egualto
(€) More than
(D) None of these

69.[wdften %R wfizT a mher v
—  _Fard
(A) FFq
(B) Faqraw
(C) & ufrs
(0) =% & #rs ¥

o gc::xgi): an electrolytic capacitor is made  70. w® 4 9T UF TAFSIATEeF Ay #y
(A) Fixed capacitance FAF R ST &1
(B) Variable capacitance (A) AT enfiom
(C) Low capacitance (B) AT AT
D) Large v i b
(D) Large value of capacitance (C) Fuif
(D) arfar #1721 1A
71. A tunnel diode is : 71. I
(A) High resistive P-N junction diode e N < .
(B) A slow switching device (A) I Tfarers f-u st srire
(C) Anamplifying device (B) e sy wifar #r fafRier Rarzw
(D) A very heavily doped P-N junction
diode (C) T Tl
(D) =g« 9T =2 iU S TTEE
72. A uniformly distributed load w (kN/m) is 72 T 3 HieT et FEaT av A gy m T
acting over the entire length of a 3 m long P . :
cantilever beam. If the shear force at the - AT T & Fate A w (kN "T‘) T A
midpoint of cantilever beam is 6 kN, whatis \ _ 3 At AT o ¥ wer fig w0 arrewr
the value of w? p§ T , AT6KN T, AT WHT 7T #7157
o R R
- 5 \f,./" . A (B) =)
ey 4 bt (O 4
D) 3 (D) 3
@ Which of the following determines total 73, FafafEa # & @19 vw gaar affe § g9 afe
power in a series circuit? Fratfa T &2
(A) Source voltage times the current
. (B) Total voltage applied to the circuit (A) T AT AT T
(C) Current flowing through a switch (B) afd uT #my ot Aredst
(D) ;Z;rigseis?ofr the wattage consumed by (C) foorer 35w # ey ATy ey
(D) wea® WATHT T Ava are ewar aiv
74.  Which one of the following materials can 74, =T 7=t F foro Frafafaa & & Gy anedy
not be used for permanent magnets? FT ITAAT T A S £2
(A) Alnico T
(B) Barium Ferrite (A) &
(C) Carbon-Steel (B) aftgw Hargz
(D) lron-Cobalt alloy (C) #Frdw &=
(D) wrg-Frares fry urg
[1103] [Page-12]

TScrics-A]

Scanned with CamScanner



in _asdlenoid--
guetic field dye o a
8 conductor i 4

"' curent - carryin
m?gnetic field
(D) Direction of force on

_ a current carryin
conductor in a magne :

5 5 tie field
(@he
conservation of:

Bemoulli’s
(A) Mass

_BJ” Linear momentum
(C) Angular momentum
(D) Energy '

€quation

When a ferromagnetic
magnetized, there are sy
dimensions. The phenomeno
(A) Hysteresis

(B) Magnetostriction

(C) Diamagnetism

(D) Dipolar relaxation

all changes in
nis called:

78.  The relative permeability of a material is  78.
0.95. The material is
(A) Diamagnetic
(B) Paramagnetic
(C) Ferromagnetic
(D) None of these

79. A train of weight 200x10* N is running on a 79.

horizontal track at a constant speed of 10
m/s, overcoming a constant frictional force
of 20x10° N. What is the power of the
engine driving the train?

(A) 200 kW

(B) 400 kW

(C) 800 kW

(D) 1200 kW

‘o)

(A) Voltage calculation
(B) Bilateral elements
(C) Power calculations
(D) Passive elements

refers to 76. V

substance s 77.

Superposition theorem is not applicable for: 80.

(A) Fomm

(B) wwwa

(C) Froftr war

(D) Zwf

A UF HCAAfF T2 eathd 2T & Ay 5uy
e § g uftady f #1 3% v & vy
=,

&

(A) Rt

(B) ada fawwor

(C) uft=ses

(D) Faetr farfaerar

Pt e fit st arererT 0.95 ) awh

E{

(A) wfafr
(B) srggafT
(C) wrgg=fa
(D) =¥ & 7S A

TH 200x10* = w1T Fif T, 20103 =gz
A T mivr 79 1w #7 gu, 10 W
mﬁmﬂﬁ%@%%waﬁrﬁéi
EEER R R R i o )

(A) 200 kw

(B) 400 kw

(C) 800 kW

(D) 1200 kW

(A) ATesst £ At '

(B) fawefta qeqi

(C) ura< &t oA

(D) w7 qei

[Series-A] [1103]
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81.

83.

84,

85.

15 minutes rated motors are suitable
for .

(A) Light duty crane

(B) Medium duty cranes

(C) Heavy duty cranes

(D) All ofthe above

A man is pulling a bucket of water up to the
roof of a building of 6 m height. The total
weight of the rope is 20 N and the weight of
the bucket with water is 100 N. The work
done by the man is:

(A) 600 Nm

(B) 420 Nm

(C) 660 Nm

(D) 720 Nm

Two-wattmeter method of measurement of
power is used to measure power in a
balanced three phase circuit; if the wattmeter
reading is zero, then

(A) Power consumed in the circuit is zero
(B) Power factor of the circuit is zero

(C) Power factor is unity

(D) Power factor is 0.5

The average power in a pure inductive
circuit is

~(A) 0

(B) VI

(C) VIcoso

(D) V3VIcos o

A person, carrying on his head a jewellery
box of weight ' jumped down from the
third storey of a building, which is situated
at 9.8 m above the ground. Before touching
the ground, he would feel a load of
magnitude

(A) 0

(B) W

(C) W2

(D) Infinity

A 3-phase delta connected symmetrical load
consumes P watt of power from a balanced
supply. If the same load is connected in star
to the same supply, then what is the power
consumption?
(A) P73

B) P
: ) V3P
(D) 3P

81.

82.

83.

84,

85.

86.

15 de_____ FRPgamw g
(A) wmze S A

(B) weqw AT FA

(C) &t =gt s

(D) SULr<h wHT

T T 6 HieX AT ATl T o T 7%
TF ATl uTHl i T 51 TR BT 79 20
N g i< a1t F @ areet 1 9919 100 N §)

ST g1 R T e E:

(A) 600 Nm

(B) 420 Nm

(C) 660 Nm

(D) 720 Nm

S o T ATON d-arediel AT wr s an
FCh Hierd diF FL0T Jide | erf<n @0 919
oy 3 siar g af? arede f G 9= g,
ar:

(A) mffzdfwiam s

(B) afe w1 gra SRz = 2

(C) drax FFex e

(D) UEX HFT 058

gE ArHATHT  gfmg W sfud
_ FdrR

(A) O

(B) VI

(C) VIcoso

(D) V3VI cos ¢

TF AR, FIT BT 9T W AT BT A AT
AT TEHL UFH ARG A1 el v, s
st & 9.8 Hiex % fiva & & A+ %7 mm
ST # g & 9, a8 qf T FiT
T W HAMI

(A) 0

(B) W

(C) W2

(D) &

T 3907 TeeT ST FHiHG WL dfed g
T PaTe el ft @aq Far §1 afe 76 sl
¥ forw, ot W = # =T & a7 ag aftw w
FYANT FLAT?

(A) P/3

(B) P

(C) V3P

(D) 3P

gf<h

rme .. 141
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87, A
7 Kirchoff's current law (KCL) is applicable 87

only to

(B) Electronic circuits
(C) Junction in a network
(D) Electric circuits

&

(39

to each other.
(A) 60
(B) 30
(®)] 90
(P)’ 120

A series R~
variable frequency SO
10 Q and an inductiv
100 Hz. If the resona
Hz, what is the voltage acr

at resonance?
(A) 100 volt
) 500 volt
(C) 2500 volt
(D) 5000 volt

frequency © f

If the supply
gecondary ©

increases, the
the transformer:
A) Increase

(B Decreas€
(C) Romain the sam°
(D) None of the above

(QO Characteristic 82° const
)
to .

90.

Closed loops in a network

The isometric axis are inclined at degree

L-C circuit, excited by a 100 volt,
urce has a resistance of
e reactance of 50 € at
nce frequency i 500
oss the capacitor

a transformer

utput voltage O

1
7 4 /’5

ant of a gas is €4

90.

’ \(%:ér'

9I.

88.

89.

MWWWW(KGL)W

I 1€ L
(A) Fead H 48 T

(B) gowEifs afde
(C) Fead ¥ ST
(D) TofagF afhe
FrEaATeE 989 TF
&l

(A) 60

(B) 30

(C) 90

(D) 120

o aregA-Hl

(Characteristic gas constant)

I :
(A) Ccv/Cp
(B) Cp/CY
(C) Cp—cv
(D) Cp+CV
g e, T
qeaE g e

3 7@ S g T T S e
5.

&
(A) 360 912
(B) 60 4T
(©) 90 @12
(D) hELC
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G} Power transformers are designed to have
maximum efficiency at:
(A) Full load
(B) 50% load
(C) _80% load
No load

Tensile test performéd on Universal Testing

Machine (UTM) actually measures:

(A), Young's Modulus and Poisson's ratio

(Bf True Stress and True Strain

(C) Engineering Stress and Engineering
Strain

(D) Load and Elongation

Capacitor in a single phase induction motor
1s used for:
(A) Improving the power factor
(B) Improving the starting torque
Starting the motor
(D) Reducing the harmonics

96.  Which of the following can said to be
equivalent with the frictional torque
transmitted by a cone clutch?

(A) Flat pivot bearing

(B) Flat collar bearing

(€Y Conical pivot bearing

D) Trapezoidal pivot bearing

97/~ A perfect gas at 27°C is heated at constant
pressure till its volume is double. The final
temperature is: ¢

(A) 54°C 2 sl

(B). 654 °C DR
_KC) 327°C ¥ *

(D) 108 °C -

98.  Stepper motors are mostly used for:
(A) High power requirements
B) Control system applications
(C) Very high speed of operation
(D) Very low speed of operation

93,

94.

9s.

96.

V7.

98.

TR FIAHHT F ATAFA Z27aT F Py Py
T T

(A) paEE

(B) 50% &rs

(C) 80% #Ig

(D) ==

Fade 2T wefiw (UTM) 92 BT St 3y
TG & AT § FrAfeta #7 7y F¥ar &
(A) T FT OIF T ATAHT (SATHT) TS
(B) arwafa® wfdwe 7 arefas fAgfa

(C) SfifFafr yfdaer 7 Sofifaafin Rgfy
(D) 9T T@E

el ST 907 H1eT § FuTie HT I09mT ¥ g
o siTaT &

(A) OTaT ST F HquTC

(B) srzemmdt =wmyet  ga

(C) X =TT

(D) gTHIAET HT FH FAT

fRafafea ¥ & &% o w7 gy e oo
AL & T FeT ST Tt &2

(A) ¥ e Jafar

(B) wie wierc A

(C) wiffmrer fge dmfir

(D) Iitesw M= aaftar

27 Rt &fvaae oT v amedt iy P g &
Tt & ot A B g s g v a
ST i qroeT

(A) 54°C

(B) 654 °C

(C) 327°C

(D) 108°C

T HIZH AT T Py oy &

(A) 39 aftw sraegFarat % fro

(B)  fAf=ror sorelt 3 arperiii % o

(C) =ga a5 i F Frarratry ¥ g

(D) =ga F9 7 F ey ¥ fog

When the friction comes into action between 99, w7 wsfre F 2 AT AT WA F A endor
the two running parts of a machine, it results & waT 2, 37 7% 9 5 -
in the production of T 8 —— BT IqTEA
ol (A) waTer
(B) Oil i
(C) Energy (B) =
(/D’/HCN (C) w=it
(D) ZmaT
[Series-A] [1103] [Page-16]
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- supplied at ;

(A) Constant volume
(B) Constant pressure
(C) Constant temperature
(D) Constant entropy

101. Ifthe field of synchronous motor is under
excited, the power factor will be:
<Ay Lagging
(B} Leading
(C) Unity
(D) More than unity

@Vhen the position of the body is either in

rest or in uniform velocity, then the body is
said to be in the
(A) Rest
L,(«B)/ Uniform motion
(C) Rotational motion
(D) Equilibrium

@ Carnot cycle efficiency depends upon:
¢ (A) Condition of engine

(B) Propertics of the medium/substance
used

(C) Effectiveness of “insulating material
around the engine.

yl‘emperature range of operation

104. A 500 kVA transformer has constant losses
of 500 watt and copper losses at full load
are 2000 watt then at what load, is the
efficiency maximum?

|5 :’cﬁaﬁge in cnthélby of a system is the heaf ‘

101.

102.

103.

104.

. e 5 o (enthalpy) %
Syt . ey

a5

(A).%RW
(B) Ruxzama .
(C) PRax argwTT
(D) feorx wwgrdt

7fe R Fie< 71 8 3T
TFATEEE B, dT gTaT et g
(A) =

(B) fifEw

©) I+

(D) FfAét & wftrs

X DA T
J "c:. !‘ E.i: l_': wi
PO

£y

o e $t Rafy ar ar o sean # AT &
qAAATH, aa ey HEgrwmar gl

(A) Fa=m

(B) UHHHTT (A

(C) it wfar

(D) #gerT

FIATE = Ze7aT AT FdT 8
(A) Fo o Rafa

(B) THART R T ATEAT / 7T F
(C) s & = AT FeAEr ward &

ECIERIE I
(D) T & qTIwTT wAT

TF 500 Fu F zrawiET § 500 FTE FT ANER
HTeT BrAT § ST el @I T FIAg e« 2000
iz g1 a1 o5 A1 9T, qerar sty g

LAY 250 KVA 3
(B) 500 kVA ’c;’%ﬂ’ (A) 250t
(C) 1000 kVA (B) 500 &y
(D) 125kVA (C) 1000 ¥
(D) 125%diq
@What is the value of latent heat of  105. wifas fig wx arofiewr & 7 wear #1 A9
vapourization at critical point? T &7
Zero
(B) Greater than zero (A). ¥
(C) Less than zero (B) sF@a T
(D) Insufficient data (©) wEdwT
(D) swaty 2w
| [Series-A] [1103]
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@ e &

In a Carnot cycle, heat is transferred at:

106. Ttz = 7, AT Y ST ot sy

(A) Constant volume 2
(B) Constant pressure
)~ Constant temperature (A) ot sraam
D) Constant enthaply (B) < aare
(C) Faargwr
(D) fRux quifew
107. When are eddy-current losses in a 107. o iR & Wa¥ 9T F JhaTT 59 a9 il
transformer reduced? ST 87
(A) Iflaminations are thick 3o X
(B) If the number of turns in primary A =z A i g ° y |
winding is reduced (B) % wrerfire arsfeer # gqoraf 6 dwar o
(C) If the number of turns in secondary ‘@'Gﬂ‘cﬁé
winding is reduced fre arefeT # ATt g
If laminations are thin (C) at2 e » R § 7o
g ST &
- (D) #fR afferere gaar §
108.  Which of the following method of fie] 108.  Sisrer o F Serr woaerr 4t Frmfrfr ¥
ignition is used in diesel engine? ' I+t Fafer &7 3T By s 22
(A) _ Spark plug ¢
BY Fuel injector (A) T v
(C) Combustion chamber (B) B Sy
(D) Heat from compressed air (C) T
<
(D) wfifEe gar & o
@ The moment of inertia of a square of side ‘@’ 109. T ‘@’ amr = 7 srecy A IHEF Aot ¥
” about its diagonal is: Hrirer y
(A) a*/12 R > ?1"
X o 3 (A) a¥12
®) a8 | Ve, NG B) '3
(C) a /]2 5# Nz 3 b o 4
(D ’04/]6 77 é/r P s (C) all2
b ; ‘/’ (D) a*16
@ Which one of the following relays has the 10. fwfafa F & 247 € /Yy ¥ uF giewnic §
capability of anticipating the possible major AT 92 e 77 AT F Y Tl T
fault in a transformer? &7
(A) Overcurrent relay
(B) Differential relay (A) Sty ey
) Buchholz relay (B) farves iy
(D) Overfluxing relay (C) e ey
y (D)  rawerfam fr
((1/ " For . the sam_e compre?sion ratio, the 1. & T = st (compression ratio) ¥
efficiency of diesel cycle is Otto fRrT, Frorer o Y T Bl & Sy o l
' . d hE___
¢ cycle. .
(A) Equal to (A) =T
) Less than (B) =w
(C) Greater than 2
(D) None of the above (C) .
(D) zArF =T+ EEL
[Series-A] [1103]
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112, For a‘st:ries resonant circuit at low frequency 112. us sa=r sqare afiog & g e st
circuit impedance is and at high R & ofrz 3 AT
frequency circuit impedance is . : e Fre
Fill in the blanks respectively. afcry & gftamar & #AE

Capacitive, inductive AT F I F
(B) Inductive, capacitive (A) FRfE, s
(C) Resistive, inductive : N
(D) Capacitive, resistive (B) F=fiea, &Fufafea
(C) Yfafeea, f=sfRa
(D) *Afafes, e

113. Cells are connected in parallel in order to  113. T3 ¥ fT &g Fr aumEia] # ST
increase the STaT gl
(A) Life of the cells (A) &eq & Sfraq
(B) Efficiency BY T
(C) Current capacity ®)

(D) Voltage rating (IR ECCIREEL
(D) Freest T

E@ Which is the best conductor of electricity? 114. et #1999 @=a1 g:rmzﬁa:h a7

(A) Copper .
(B) Silver (A) Ty
(C) Tron (B) st
(D) Water ©) e

(D) Tt

115. With rise in temperature the resistance of  118. Wﬁm%mﬂgm@wgﬁﬁa:

pure metals: —

(A) Increases (A) FEaTE

(B) Remains constant (B) FazzgaTy

(C) First increases and then decreases (C) e TzaT & 3K e AT &
(D) Decreases (0) TR TS

116. A circuit component that opposes the change 116. us gffc w2 w1 afhe s # aZona &0

in circuit voltage is: iy Far &
(A) Resistor o
(B) Capacitor (A) .
(C) Inductor (B) wermfi
(D) All of the above C) ¥F
(D) T F At
117. According to Archimede’s principle, if a 17, afffrds ¥ Rgia ¥ o, ak @ R
_~"body is immersed partially or fully in a fluid o = & a1 g avE ¥ R ater wand
then the buoyancy force is the N
weight of fluid displaced by the body. AT G &, T I A (buoyancy force),
Equal to forog g fAenfiT g3 % 9 grar
(B) More than &
(C) Less than
(D) Unpredictable (A) aj
(B) ¥ wrfars
(C) &=
(D) wrqETgH
[Series-A) (1103] [Page-19]
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U8 1fa signal fir) has energy F, the energy of 118, ofy e #3r fr) & 317 £ &, a7 e 6Y 3t

the signal 2¢) is equal to:
(A) E

(B) En

(C) E/4

(D) 2E

119. Which of the following statements pertains

Lo resistors only?

(A) They oppose
voltages

(B) They can act as energy storage devices

(C) They can dissipate desirable amount of
power

(D) None of the above

How.is absolute pressure measured?
,(»A)/M Gauge pressure + Atmospheric pressure
(B) Gauge pressure / Atmospheric pressure

(C) Gauge pressure - Atmospheric pressure
(D) None of the above

sudden changes in

éﬂ Which of the following material has
temperature coefficient of resistance very
close to zero?
(A) Manganin
Nichrome
(C) Carbon
(D) Aluminium

A micrometer screw has pitch of 0.5 mm and
the thimble has 100 equal divisions marked

on it, the least count of the mstrument in mm -

is: T &
(A) 0.05 /{fé’ o
%X e
<«B) 0.005 ( Y \
(g) 8225 § 4¢ p;’( _T| (O 7‘,'.(“-\"
( ) . v &‘cirAQ_C.
{

)

119.

120.

121.

(3]
9]

fon____ Fagaly

(A) E

(B) EN

(C) El4

(D) 2E

fafafaa § & #b7 a1 F97 f&OF gfaaut 7
(A) F Aot T q=TAF T3 T AT FA G
(B) T T WX IUFCOT F FT H FF FT
(C) & afsr it atgeftT ATAT AT A2 FT AFA &

(D) =77 F F1S ot ALY

(A) I ZATT + ATHTHIT TATT
(B) ST ZaTa / ATIHEAT ATH
(C) T ZaTe - AgHEIT TATT
(D) =z & HrE of 7t

frafofea & & P arrf =1 sfadry amoam
IO 3 F T F1 37

(A) dafas

() AT

(C) #rEw

(D) sretfaae

T AR 7 A R 0.5 fnft & i forerer
7% 100 = fAwme fiftaa # & area g7
FeTaniS At F &

(A) 0.05

(B) 0.005

(C) 0.025

(D) 0.5

[Series-A]

/7123, If the resultant of two equal forces has the 123 A3 &1 T 4t F o ge afeATor +ff
L/ same magnitude as either of the forces, then u’"ﬁ;* T BT & 3 T %, 3t 2 gt F e -
the angle between the two forces is: ¥ < .
(A} 30° végxi wo FITE:
(B) 60° , { ST W s
oy 20 LR B) 60°
(D) 120° < (B)
(C) 90°
(D) 120°
[1103]
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124.

125.

126.

127.

128.

\g
[Series- Al

B
T TR

The nodal method of circuit analysis is based

o o
P iy o7
'Y B4
% -~ ., .‘:'

e iy B e A TR &

124

on: A
(A) KVL and Ohm’s law (A o T sy R
(B) KCL and Ohm’s law A .
(C) KCL and KVL (B) T i f
(D) KCL, KVL and Ohm’s law (C) Ferue sz Fdtust

(D) e, Fefruer o s &7 AT
A Buchholz relay can be installed on: 3
(A) Auto-transformers lec on: 125, Buchholz f 3t warfira fvam o1 #FT &
(B) Air-cooled transformers (A)  ET-ZrERET
(C) Welding transformers (B) miﬁm
(D) Oil cooled transfi
(D) nsformers (©) ez

(D) T Fog AT
Which of the method is employed for 126, 10 wady qa 7 ¥fr ¥ araw gaeTT #Y &1
cooling of power transformers of rating not 3 L
(A) Air blast cooling (A) TITFTE o=
(B) Natural oil cooling B 37 o
(C) Forced oil cooling ®) b
(D) All ofthese (C) erfard der efiaer

‘ (D) 9l st
In a.company, 70% employees have bikes, 127. 5t sem § 70% FHATET F O A4T5F §
20% employees have cars and 15% of st . ) .
employees have both bikes and cars. In all Gk ) * w i %a‘qT 15/"_
there are 3840 employees in the company. FTRET ¥ O aTeE A FIT QAT gl AT H
How many employees do not have bike or [« 7 3840 F=TY FTH FL §1 TH Fa TG
car? # R T A T AEF A FRA?
(A) 400 At A) 400
ABY 960 *ls g WEL A
(C) 480 qa( : Qo (B) 960
Q
(D) 560 . St ({\:} VY S/ﬁb (C) 482
5
qotd = M0 S 90 (D) 5
lU,J -~ - /(;?’/
How many triangles are there in the given 128, f3y o R # R Brasr €2
figure?
(A) 25 (A) 25
(B) 14 (B) 14
Eg) 39 () 39
4 _
) 40 or more () 40T
[1103] [Page-21)
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129. Last year Manish bought new year cards, he ~ 129. figa af @@ &7 ¥ ¢ #17 & Fé @ﬂ% ar
found that the four types of cards he liked Ty qraT 5 I A T IR F FE qHT
cost Rs 20, Rs 35, Rs 45 and Rs 50 each. As I garE T Fr9F Fo 20, Fo 35, Fo 45
Manish wanted 30 cards, he took five each afeT
of two kinds and ten each of other two, by T wo 50 ot AT 30 FE g
paying some Rs 100 notes on the payment o7, 3t TEY Fo 100 F FF AR FT YA FX
coimter. How many notes did Manish give? TerE &7 TATE 3F T AT T TAF ar THIT F
5;33 i(l) zq F7¢ fordn| w7 fara Are R
© 9 (A) 10
(D) 8 % 191
C, ) (D) 8
g'_/[130. Two numbers X and Y are  inversely 130. 3y gt x & Y u-ga & FATAITT Bl
proportional to each other. If X is decreased IR XY 209 Frar Ty
.. by 20% then Y will increase by? X 31 20% PH T STTS, T
. Y EI/;;)O% ‘ @ b gfaad ag SgT?
. 25% o'l o o
¢ ol (0 100% oL B (A) 30%
y‘ (D) Can’t be determined R | (B) 25%
* {
. \ . (C) 100%
\ ¥ a p e
ol (D) ¥Td T8I FX AHa
131.  Consider the following matrix: 131, mmffe s 9 AT A
o j: 31 ggw . 2431 64
I . 457 80
33 [ 2168 332163
What will come at the place of *?".
(A) 20 TG ? F T 9T T I ?
(B) 21 (A) 20
(C)22 B) 21
£
(D) 23
132, How many whole numbers between 0 and 132, 0 71 999 ¥ #i=r frast T HETE § s 5
999 contain the digit ‘52 l N
(A) 260 NS ¥ B
(B) 280 0N (A) 260
© AT @ w
5
(./} (C) 271
(D) 252
133. In a race of 20 bulls, the probabilities of 133. 20 &= 4t &= ¥4 A, B 74T C ¥ e o
winning the race by bull A, B and C are 1/4, & _ ' T
1/6 and 1/7, respectively, then what is the URK E'J AR /4, 1/6 AT 177 B, T A
robability that one of the three bull will win T OF 4 7 de Sfiay £ iy 4w
p -~
the race? Gs\l i
47/85 Q&
(B) 47/84 o 3 (A) 47/85
(C) 45/84 R (B) 47/84
(D) 45/85 (C) 45/84
(D) 45/85
[1103] [Page-ﬁ]‘
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134

135.

136.

137.

138.

(A) 20 litres

134,

y 0 4

g

45 Wz ¥ fft oy

4:1 g Mﬁmmﬁimmg

(B) 24 litres
(CY” 15 litres ®! Vg AT ST 3:2 &Y STar?
(D) 17 litres (A) 20 < e
% (B) 24T = LS
e oagmd v
: © isdw K= BN yes)
Salaries of Raj - sy
of 2:3. If the ?:lsa};yag(:‘ Sunil are in the ratio 13 (D) 17 #ex 4 Ve
by Rs 4000 the new ea<‘:h one is increased L T AT g i ey
What is Sunil’s ratio becomes 40:57 T ST Y TR I 23 ,
Rs 17000 present salary? Y qIT 4057 A o 4000 T <A
Y&l : STar gl
(B) Rs 20000 %‘ 5 ATEATE FIT £ 2l gt A Fda .,> '
(C) Rs 25500 E , 2 (A) = 17000 Ry o7
(D) None of these " & B) o xk A%
NRos gl 20000 b 5 e
7 rg,xr " (C) ®o 25500 R ¥
\,La'* 4-‘*“

{n how'many ways can we put four different
etters into four different envelopes so that
atleast three letters go into the wrong

envelopes?

136.

(A) 13 an
(B) 15

©) 19 /
(D) 17 A

r Q. No. 137 — 138): Read the

(Direction fo
two

following information and answer the

items that follow.
Seven friends P, Q, R, S, T, U and V are
sitting around 2 circle facing the centre. P 18

between V and g. R, who is scconq to the
right of S, is between Q and U. Q is not @

neighbour of T.

Which of the following statement jsfare

true? '
(I) U and / are neighbour of T.

(IT) There are tWo people between
(I Q is third to the left of T-

(A) Only!

(B) Only II (4 .
(C) I and 111 both $ -
}D) [ and 111 both

Who amon
S and R?
AT

(B) U
(P

T and U.
v T v

137.

(D) = & FHIE A |
%gﬁm-ma‘ﬁtﬁr"%gwaﬂm-m 1N
T A AT AT forERt X s wwq g6

T e & S S T T forBIRr # T S
(A) 13 e
(B) 15 L 7 et
©) 19 " p
o) 17 “O&
(ﬁ?srv.#.137-138):i’r%é’r1r§am?ﬁ1ﬁﬁ ﬁ;/
W@oﬁﬁﬁeﬂ%mmaﬁaﬁamﬁ%m
fora
a P, QR S T U T V T% FATE
ﬁa%aﬁmi’m’ﬁmg@m%ém
\ @ S ¥ o aaT glR,a‘Tsamﬂ‘ﬁ?;w
3 Qay ¥ g Tl Q, T 71 wETHT A 8
ﬁqﬁ@rﬂ‘mwﬁww%/%’?
(I)UWV,T*‘TW g
(||)Tamuﬁﬁé’raa’r3ﬂﬁ5%’i
(|||)Q,Tasarri@feﬁﬂ“’ﬁ"
() ¥
B) Fa«ll
(©) | et AT
(D) |a'2‘{TII!€Fﬁ

138. ﬁaﬁﬁﬁﬁsw‘?mﬁﬁﬁ?
A T
® U
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139. The book ‘Garhwal Painting" is written by- 139.
(A) Chetan Bhagat
(B) Sailaish Matiyani
(LGT Mukandi Lal
(D) None of these
140. The Ganga River does not flow in which 140.
state?
&Y Jharkhand :}é
(B) Uttar Pradesh RN o
(C) West Bengal Uk \/
(D) Bihar ' At
l\." n’/y
141, Rahul invested in a saving scheme in which 141,
Al he gets a return of Rs 600 in 4 years and Rs
;; «.‘7, 650 in 6 years. If the saving schemes
7 J calculates the return at simple interest then
Il Wwhat is the rate of interest per annum? e )
¢ (A)L3% (VA g
L8 co \ AL
'\/‘q,w’ ) 5% '79" B '\,,3!;
G o (C) 7% C[ %41 ?}é‘f’ . {\,
v D) 99 '1/ VZ& ¢ 4
"V/b‘ it ( ) Yo ()J’

(o

2,/ Mohan and Harish started a business

together by investing Rs 24000 and Rs
22000, respectively. Harish left the business

142.

(A) S
(B)  drerer wieaTe

(C) HF AT

(D) = & 1S AR

e & 7o 3F o A T A & 2

(A) =zTE@EE

(B) ITT TR

(C) wfery gwrer

(D) fagre

TEH & TF F=q T # [der fFam, Sms 4
e # 600 T AT 6 WIr H 650 T £
ol 2t 31 A =T AT AT =5
T FAT g T wf o s 2 A 82

(A) 3%

(B) 5%

(C) 7%

(D) 9%

HIEA ST g8ler F wHan 24000 3K 22000 T3

F1 39T FTF 0% sTwEy o fm g ¥ 4
FEI A% T Wi 397 4@ g 26000

W after 4 months and Alok joined the business T F T FOER F aiier 3 T T ¥ s
with Rs 26000. The total profit by the end of TF F AT 38033 TUT AT ATy F ghr =7
5 the year was Rs 38033. What was thel share r ) <
~® of Harish in the profit? W\ . T ¥ o
n T AQ (A)Rs 13546 e’ (A) 13546 Ty
p:3 b ) Rs 5731 v TSN L B) 5731
v “Q R s6i0 gAML el o
AN (D) Rs 5604 | SN .'TVL(C) 6640 w3
yv\ W v % 7 "‘/ﬂt“ (D) 5604 w7y
n%*u%r[“. In‘a certain code ROME is written as ILNV, 143, v Afe e i ROME T ILNV ¥ =7 ¥ fiay
. ; Y s A
?X;v ggig 'IF"([)IKYO be written in that covde. 1,5:' ST &, 37 v % TOKYO 5 3 .
~ v -
q‘v\m’ (B) FLPBL o Mn(\\ ';,/7 (A) GLBPL
., (C) FMKBM ‘;‘}0%-, 13(7 (B) FLPBL
e (D) GLPBL | | «~ L
L w YY) nl & (C) FMKBM
P Ky (D) GLPBL
144. If A denotes ‘=", B denotes ‘~’, C denotes 144, X A '+ a7 Zertar # B 7 gorfar £ Cx
‘X’ and D denotes ‘+’ then the value of i 3 @ D v & Tofar &
l(f\)’%}]qﬁzsfzmm : 444 15D 16 B2B A7 C4 #r AT &
2 M ’
(BT 15 o ! 5 (A) 31
(C) 108 2\ 3 (8) 15
(D) None of these ‘/4 c (©) 108
v (D) =i & 8 7
[1103] [Page-24]
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45 The,

-G e L s ¥ o B R
y 4 o . Y ety 1V
s P BN 3 VoM
5 g % o al Y B
- \

ik SCOOYEY . can) Tast ooy NATBEA elentric’ - 145, Aapt A I i PR
. continuous riding, Gy 3. Minttes while N € & SO ¥ew eyt 7 42 i
thc - scooter stops aﬁirda:;)” during a rige T gL 45 ﬁm—:aq; Wﬂiﬁﬁ‘{l‘qﬁ?ﬁ?
- charging it partially, it 1, gs Kms. After SRR mﬁ?ﬁ‘ 39 i v A dzar
- covers 25 Kms. What 4 the minutes and STaT 81 AF w ¥ wnf w0y %m,qg%‘ e
-~ the scooter? average speed of Pre o 0 25 e R g e e 21
(5738 Ky LalaING 1 we A st R 2
(C) 49 Kmvhr famy B (A) 40 Rt vy
(D) 54 Kn/hr “ "’,;‘ ) % (B) 48f%f/der rj/*h
c €S (C) 49 Fuft / sizr L=
- (©) 54 Bt/ bas
) T
Rahul d -
146. m?et:r raiiea[tg {{Oh't by 10 seconds in a 100 146 3 e ?ﬁ,’i ‘
- Il the speed of Rahul is 9 Ky - TgA 7100 Wz Fz # AfRF 4 10 ¥ & !
what was the speed of Rohit? b garam oty £t nfa - 3:"5
( Km/hr N A . A R 9 fft /et g, oY U o2~
@?/;.5 Km/hr /""’”f/q_ T o af Far 42 % ¢ @ N p X
(C) 7.2 Km/hr 88 K W 7w Ty 9 LY
(D) 7.4 Km/hr y’ ,V“u ‘/: (B) 7.5ﬁ.‘£ﬂ‘/¥i‘r_r]' 1 ¢ : 1%
oo W YA () 7.2 Peft/dE o sm T
' = (D) 7.4 fwft/ v
147. A ves.sel co?tammg 3 litres of a salt-solution 147, g e 3, 3 ot 17 3 ST 7 10% A9 21
contains 10% salt. How much water should ’ . . -
be added more to the salt solution so that it 5.5 A & e # e avdr o e s
contains 5% of salt2’ 2 %A %3 &7 ART arfd =@ 7 5% 79 217 A%
A 1.5 litres {;"/ Fe s 7 A 15 o ST,
(B) 2.5 litres 4@ Ay N ooam © e
,.L{ (C) 3.0 litres \‘\9 - Wy g et . ‘;'(.
(D) 3.5 litres /gﬁ N ¥ e o(C) 30X .
'Yﬁ( (ﬂ § ¢ W "y”"_'\ 9 ¢ - 4
g o 1A 38 STt
o &Es4
148, At present, the age of Sameer and Rohanare - 7148, TEATT i, TR o e A g 5 7 F U
in the ratio of 5:7 and after 10 years thf: ratio ‘oz a\/ﬁ & S0z 10 1T A7F ST A T AT 15:19
of their age will be 15:19. What 1 the ,a(/ , _ ) .
& ﬁmumﬁmmﬁwma’? v Y
difference between their age at present? Vo9 i
(A) 8 Years v),( S ;z / (A) 8 uTeT ﬁ}/‘{ = !\’;l
iy 12 Years ~/§/ > 6 1 ? (B) 12 9T 2 gl
9 .{S (C) 16 Years 7 /64% VA/ C-} (C) pp— a @ Q(!\)‘Hu';— |of§H.
4 (D) 18 Years a 92 A TARLE o ¢
« (D) 18 @I a0 W us
- oot yac3sPmeaE
149, A faulty clock increases the tme by 3.5 149 ;T_(ﬁ 5 m‘gg:;gm Fruife T 3T
minutes after every 30 minutes. Aﬁc.r seltnr}{;1 ;;if : e , P
the correct time at 6:30 AM(; what time W1 9 arg, 5 T 5 s Fh 17
the clock show after 5 hours o Vo \o B (A) 12:05 TATET wry < g9
(A) 12:05 AM v S e (@) 1MBs T
(B) 11:35 AM 5 o 1A b
12:05 PM 7S g Wg (0 1205 & ayr
(D) 12:15 PM % (D) 12:15 T wﬂgo\ > 0
| i 3 ( e
\ ¢ 74 G
s

; T~ [Page2s] -
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(D)

152.

Who is the wo
to score a hattric

men hockey player from india
k at the olympics?

Rani Rampal
(B) Salima Tete
©) Vandana Katariya

(D) Navneet Kaur

(A)

(B) Pisgra

(C) Pissono
y)/l’ is the maternal uncle of A
154. Ina two-digit number, the unit digit is siX 154.
digit. If 45 is added to the >
4

times the tens
number, the digits in
then the number is:

(A) 53
(B) 35

‘L
A is the son of C; C and Q are sisters; Z 's‘\""' 153.
the mother of Q an f Z. Whic /(7

of the following sta
C and P are sisters

d P is the son ©
tements iS true?

a/

Y

ndson of A

152.

(©)

terchange thei
ge their place, 5 .

(B)

©

)

A, C# T & Qeccazigz QT E
ahp,zwgﬁguﬁsrﬁ@vﬁaaﬁwmm

a7 87

(A) CePaEAE

(B) P, AT TS

PAFTIAE

(D) P, AFTHTHT &
31@#@%45@3%%3%%3@
STTg a5 & gl df TEAT T AT 3

\O*Yﬁ 8 S © (A) 53
\, \\'\<

e (B) 35

(C) 61

(D) 16

[1103]

Scanned with CamScanner



R

‘é,i'!&ibw-‘zﬁnglfsh’va'nd 30 know both, how

many students are there in
A) 100 el $
) 120 o= T
(€) 150 ..
(D) 180 QLo o/ **ifﬁi;

156. The area of a trian
sides are 8cm and

6cm and the erimeter i
24cm, is equal to; P

® 3 o e el

G
(€) 24 ot 5 4B T o
i 7 5

157. A solid cube of side 12 em is cut into eight 157,

cubes of equal volume, then the side (in cm)
of the new cube is equal to:

8 \
T s Sty
(5 4 Q»\»: Ba Ry 12
€5 X Te Lo i

pre

= W Treggzs
Z =

158. The median of the following observations 158.

46, 64, 87, 41, 58, 77, 35, 90, 55, 92, 33 is
58. If 92 is replaced by 99 and 41 by 43 in
the above data. The new median is:

'0U 'O Students cach one kiows {5
indi or English. £ 100 know Hindy, .+

gle (in cm? ) whose two 156.

(A) 100

(B) 120

©) 150

(D) 180

U nqer &7 dwe (12 ) wr g, R Er
T 8 At o 6 At & e Ry 24 A ¥
AT E: St

(A) 36 2 -y 24
(B) 32 phay’ o
(C) 24

(D) 40

12 Tt F UF 219 99 %Y S a9 A
W # FST STQT §, AC g7 A g7 (39 H) 77
T-IT'-T'QPI"'I'I': s (N
@A) 7 (12) =R

(B) 4
(C) 5
(D) 6
et 31 46, 64, 87, 41, 58, 77, 35, 90,
55, 92, 33 7 wrfeawT (Median) 58 &1 af2 92
T IIATH 22T F 99 T T 41 9¥ 43 F =

(A) 56 faar s, &t ar wiftew AT £
(B) 61 (A) 56
(C) 58 (B) 61
(D) 49 (C) 58
(D) 49
159. Ifthe system of equations 2x + 3y =5, . 159, afr qufieseoit £t ot 2x + 3y=5,4x+ky=
j})]:e:kkz = 10 has infinitely many solutions 10 % sl w7 & 7 g E Y k=
b/(A,)/G Flors Vg (A) 6
© ! Bw«\ yagw = Vo % ;
©) 3 A9 Jig
(D) 2 _ﬁ,&u (D) 2
160. A work is being done by 8 men, 16 women 160. TF FH T 8 [T, 16 AfZaTar gy 8 Ry #
in 8 days and 40 men, 48 women in 2 days. 4 48 T
The number of days, 6 men, 12 women will ﬁ"_qT GIT T &3 40 g, i " T .
take to finish the work is: ) feett # 3t s v e o <@ 1 7 6 e,
Mfgm Le 7R 12 wfRgemet # @ w9 A1 @ w7 F B
(B) 2973 Soao 1t P R
gl h v s (A) 3273
£ “7a
)i 2 s £ 7O B) 203
(B riww) vB = 1 /0 (©) 353
. < | D) 2 o1
4-.vomt4%w)>(" [ '() o “w"i;,:%¢
'_’_-/_—" -
] \_ = o 2} aylb g«‘b \'":‘ T=
 [Series 23 coomep vy L [Page-27)
% %Y xie ¥ \ex1s
E: I
5 “ i
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B R S A e
N - *
. e “\

TR TE TR

e (A A=
W (B) FTE
i 43 9) Limestone () e 4
' .?‘.;'
(D) AT TAT g |
172.  Gateway of India was built by? 172. Wre¥ ditw Rar w1 Rwior s arr fy ’“ﬂ
(A) George Wittet qr? §:
(B) Frank Gehry ' .
(C) Zaha Hadid (A) Thf ez
(D) Non of these (B) S Trgdt
y (C) SiTer &=
(D) T & FXE TG
173. I};t}osphere the lowermost layer is? 173, qrgsies # wadr Rt oea gt 27
(AY Troposphere :
(B) Exopherc (A) grafema
(C) Ionosphere (B) wwfFaT
(D) Stratosphere © N2
(D) VAT
174, Who is the first women cricketer to hit a 174. op % T sraw T ATy Teeft wiRer
double century in ODI ?
(A) Mitali Raj ' Phee il §2
(B) Smriti Mandhana (A)  Frarett st
(C) Belinda Clark :
y Ellyse Perry (8) wf e
» (C) afc=T e
(D) ufery ¥y
173. Which one of the following acids is used in  175. Frfrfr sresit % & Frer sreer oy T —
the car-batteries ? Iefeat i
(A) Acetic Acid A s & 2
(B) Hydrochloric Acid (A) e s
(C) Sulphuric Acid , (B) wrESrEIfE arer
(D) Nitric Acid
(C) worgfw st
- (D) ATErEE s .
: ; ; (11c .
176. Uftarakhan:l lies in  which part of \I\EJ ST, RATe ¥ R s 3 R &7
Himalayas?
(A) Middle east (A) wea
(B) Middle wast (B) wew ufdyy
(C) Middle north o — 4
(D) Southern Middle ©)
(0) TR e

csany

Bl . [Series-A] [1103]
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